Siberian Tigers Gene Pool Activity
In this activity, we are going to track the presence of two alleles in a population of tigers.  Siberian Tigers (Panthera tigris) live in Russia in areas where the winter temperatures reach -50◦F.  The amount of fur on the tiger’s body is determined by a single gene.  The dominant allele of the trait causes normal fur.  The recessive allele causes baldness.  

Predict what will happen to tigers that carry two copies of the recessive allele.

Hypothesize what will happen to the number of copies of the allele that causes baldness over time in the population.

Procedure:
In the bag given to you by Ms. Rose, there are 50 pink G&P and 50 white G&P.  The pink G&P stand for the dominant allele.  The white stands for the recessive alleles.

1. Get three Dixie cups.

2. Label 1 cup RR.  Label a second cup Rb.  Label the third cup bb.

3. Shake the paper bag.  Reach in and grab 2 G&P. This stands for the genotypes of each cub.

4. Record the type of each cub in the chart.

5.  Place the G&P in the correct cup.
6. Repeat step 3 until all the G&P moved from the bag into cups.

7. Since the bb genotype dies, we will not count the alleles in that cup.
8. Count the pink and white G&P left in the other two cups.  Record the number of each type of G&P in the chart.

9. Repeat from step 3 until you reach 10 generations.
10. When you have reached 10 generations, put all of the G&P’s back in the paper bag and repeat the activity for another 10 generations.

Trial One:
	Generation
	Number of RR
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Trial Two:

	Generation
	Number of RR
	Number of Rb
	Number of bb
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	Generation
	Number of Pink G&P
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Data Analysis:
Create a bar graph of the number of each genotype of cub.

Example:
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Determine the percent of the total gene pool for each of the alleles.  
· Add up the total number of alleles in the generation (# of pink G&P +# of white G&P)

· Divide the number of pink G&P by the total and multiply by 100.

· Divide the number of white G&P by the total and multiply by 100

Trial One:
	Generation
	Percentage of Pink G&P
	Percentage of White G&P
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Trial Two:

	Generation
	Percentage of Pink G&P
	Percentage of White G&P
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Create a graph with the percentage of each allele in the gene pool per generation.

Example:
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Conclusion:

Evaluate if your data supports or contradicts your hypothesis. 

Judge whether a recessive allele that is fatal to offspring will go extinct.  Support your judgment with examples from the lab. 

What relationship exists between the percentages of the two types of alleles in the Siberian Tiger population?

Compare and contrast the number of each type of genotype of cubs in the population over time.

